- mx

= Ophimudy Tebt™ > Transporiation froblen)
bt B el

Theye arc basic,c.ﬂﬁ Jroo method?
13 rodibicd dichribeadien methed (1097

2) S+@P}’if"(7 stone methed

= chiber L od i The modified
o)) ed Jdick=ibeom mer |
M 4

di b buh o7 me‘P’u:d w3 aleo knowon ald MopT me
S‘ .

U))ru“c)a 'prOVTCLEd a m
o LV me‘rkw_), o HQMM&%'W

Yyl p A CO3F

soluhien (ophmdm gc'pluh‘efﬂ) to

in
| bL Foubw"w;r qre P 2teps invalved i 5
!) {‘ ’ . o ) . + |
;;—:Pl . find eaf Fhe bhad g %@8)-)9'@& selutien of ‘Le
L] | b )
+~sqmp§f6%<)fan povbler Lging avY o e folleco Y
?}QN ih» east eI NET n’zeH/usziJ .
L o

- opst met ‘ |
) Least ¢ S et

1) g appriraion e
Yep2 Tontroduce dua) variebbes con7E poncling
e .

. ) Mo cadumm (bmﬁaﬂ‘m}g. S{ there
s conshyainds )+ \
'\‘1:2 :WP% PO\M}I agnd 7 0(884771,@%‘947 }w&m}f Yen Preve
Q \ ' 4
U)l\u )DC- M4 dual \)CC'YI‘Q w@ DN/Q/O Vaﬂqbpe' C TTQS |
bonding $o Tow werdeslte ave cepresented by Ui, (743

cem . whereas the dual) vaviable wrrealoordinf fo columy

Scanne d with CamScanner



I-/6
ave wepresented by Vy, J=127m Ihe value ob dual {
vartable i3 caleulated WWWHW
- Wi+ Wy =0y v %20
Step 3! Qny basic. Leatible 3olution Pian wnad

sacupied o) x5>e - Thers, there will be min-L 1o

oh equatons fo deferrzne N oLual variadles. One ob
:%4. 94 2 edso

e duad varighles canbe chesey) arbtrav)
e et a3 . ol onsbraiets are puthors,
Ihe duok varia¥les ore W mv‘vv‘caLeol (' éfn :
Step U Culoadate Cij - im0y o odd unoccupied.
cells (i-e o7 Rij=O) . 94 o) Cij -l VY0, then lag

Hie Hieorem o Q@m)?femenhv;{ slacknes i+ can be
sheton Hut the c@w&}%ndc‘rﬁ sofution ot the framfpe-
Thh‘@”' P{Db-oem I @}a}f"num- Cjé O7Ne OTS® MOTE ij—(—{,-'—l}f
s Doy Hon zewD (Cli=Ui-Y5 &) wwe select the cell with
e deast value of Cpj—lLj —V ond allocate e much
@3 besible subfet to Yo yoed ondl colimn constrashs.
e allscabions ob Hhe vumber of adjpcent celd ares
justed 10 e @ besic. varieble beomes monbasle.

slep5! p dvesh <ot of duad variablez are celelote)

—r

and vepeat the entire procederc.

fet usg tonsicle, a proble
m ond discuss the otove
.mmmw@wxﬁw SQ Tl oo



XDbQPm " ﬂ;ﬁ
F The +~mn3}?oﬂ.fm wg{_ PWUW’/— @6

derrLCW’J 30

Sofuhien)

e
Yo
23
3¢

30, [GDLGO > Heﬂte bﬁfgﬂ(’?e‘$

| #—(D};Pé‘n]

ﬂ,mt detevivine batic Mlbp@ soleh'e 0.3 diseut

i Hee previows qechemn
1) Nogt- eogk coTNEY mey%ac/
Ce8t :QY3°+?{{0+37(20+S‘!\S+[91<35

= #s 625/

Sefun L | .
2) oluher %i east L@i’vL methed) 3 e
(est = axzo+?w+3wc 25 S 6x30 - _

= g90 /—

3) Selution by Vegel? pppcirmedien 30
Hood '— ¢ feriddty methad)




II-14
Note ! theve 1’3 yo 77664 to obtain basg). feagibe.
2 ol 19] ) metheds. We have fo ugedus#mcmd’l'/‘/
to gt basic feasisle solubion and then fprocads fo
9et ophmal solufiem by the given methects

Moo &?LU'S C@ﬂ/}fale'f Hee bagic {e@—&rbﬂe—kolu/?% %

? Deast cofh meteod:
\}l Uy \93__1&”7#1?
8 % + Yo
" |
g |7\ @1 Kad
Uy 3 © 35
0 . 26 ‘ Lfa
Now cadadate e dual voriobbes Wjd Vi 87
e A% —=Ciy

U+ (J, - @ Ug"“l/q;_;g Fg‘f O-CCU/"V\aP
L{r+ I L, + =6 c_e%mu%
! =
U BT -
Cheose ony ene oA olua) g ables qrbitzarity 13

JoxD, Jeb =0 > W=0, 0= , U3 ==l
. U],:(g )l/Qz,:'(J ;'/'3:7

Scanne d with CamScanner



-9
Neto (,0177/7@7!5 C,/‘J'—-Llu‘“‘u,]‘ tor ynadlocatee FUY’J?W‘/’

n’j’L’? 7-——‘0’- - 2 r___@)
o Lw-g = o) (4

I . :L k; | = =]
A23 2 c—-(-3)-7 B[ .

' e (-4 =3
e value CCL‘J""‘*J"\BJ)

ond s Wwe 7 but

Ve observe thab there 18 & V€

 oeent

here and hence there 14 4 g2i1

¥ madruerl Q

};ai\terD’l
e cer] PO/- fl‘-e
: : C}mw’wtf' & 25 _ w/
20 30 yo H(?HC‘Q Fu'L W@ 28 ¢

H n & /\lew ‘f’ﬂbp@ Db,teu‘néd,ff,’ ‘ W*. other CQ—N QoY —
e .

\ \_Bdi::z:fo?,goluhm e ob?’q;:?eb,a
’f/dmug e e eed to cheo
e the M2 golubon 13 Hhe

beot golufrem &7 whethe7 37€
nore éw'n P /?oarb«[’e‘

kO

30 30 |
-+ \A)Q hove +O e b@g} ‘,’L‘J\’S Uﬁm)pvo_e,ﬁe_ }D’fDC€O[44/Te. U’U’/j
o Cp— el in unoccupiec) cell are greater they

or eudf fo zer?:
| So GLL@E/A a«ga)n

Scanne d with CamScanner



u + = 4@

L+Vs = 7
Yy + 5= 1
Unt V2= &

30 306 Lo

ée%‘ (-{17/0 ::> =0, ==Y, _Lfg:_i
[),;@‘, l};,':. E } \/Qg:"—;(—

" iHems -
Neow evaluafe ¢;;—uj-ty 47 unalle cat 0} pos ,

A= 9-6-(=253

Aoy 2 3-C4)- t=1

fog D S-(W-7 =2

4 3L =7 g-(-1)-48 =1 |

_ | .
F]M Jhe 3e Vaﬂue& 0"6 CL)

solat’®n 13 'o‘b/-f'm,um»

—Vj >0 and hen ce

Scanne d with CamScanner



